CASA GRANDE ELEMENTARY SCHOOLS Days and Hours Calendar by Employee Classification 2022-2023 Created: 4/28/22 Adopted: 6/14/22 Revised: 6/13/22 Total Daily Begin on/before Annual Employment Period/Dates Employee Position for full raise Davs Hours Hours TWELVE-MONTH EMPLOYEE 1/6/23 07/01/22 thru 06/30/23 Student Days See School Calendar 154 Paid Holidays See School Calendar 11 45 210 8.5 1,785.00 Salaried Staff - District Professional Workdays/Parent Teacher Conferences See School Calendar 12 222 1,881.00 1,785.00 210 8.5 Hourly Staff - District Professional Workdays/Parent Teacher Conferences See School Calendar 12 60 222 1,845.00 ADMINISTRATIVE ASSISTANT - ELEMENTARY SCHOOL 1/6/23 07/01/22 thru 06/08/23 ADMINISTRATIVE ASSISTANT - MIDDLE SCHOOL Student Days See School Calendar 154 Paid Holidays See School Calendar 11 OFFICE SPECIALIST - SCHOOL Work Days Before First Day of School 7/5/22 thru 7/21/22 11 REGISTRATION & DATA SPECIALIST Work Days After Last Day of School 5/30/23 thru 6/8/23 183 8.5 1,555.50 District Professional Workdays/Parent Teacher Conferences See School Calendar 11 Total 194 1,610.50 ROUTER/BUS DRIVER 183 1464.00 SPECIAL NEEDS COORDINATOR District Professional Workdays/Parent Teacher Conferences See School Calendar 11 1,519.00 ASSISTANT PRINCIPAL DISTRICT COORDINATORS 183 8.5 1555.50 DISTRICT SPECIALIST District Professional Workdays/Parent Teacher Conferences See School Calendar TEACHER-ON-ASSIGNMENT Total 194 1.643.50 DIGITAL LITERACY COACH 1/6/23 07/05/22 thru 05/25/23 INSTRUCTIONAL COACH Student Davs See School Calendar 154 Work Days Before First Day of School 7/5/22 thru 7/21/22 11 174 8.5 1.479.00 District Professional Workdays/Parent Teacher Conferences See School Calendar 11 88 185 1,567.00 SCHOOL-TO-COMMUNITY LIAISON 174 8.5 1479 00 District Professional Workdays/Parent Teacher Conferences See School Calendar 11 55 1,534.00 FIRST-YEAR TEACHER 1/6/23 07/13/22 thru 05/25/23 FIRST YEAR APPRENTICE TEACHER Student Days See School Calendar 154 Paid Holidays See School Calendar 9 Work Days Before First Day of School 07/13/22 thru 07/21/22 6 169 1,436.50 District Professional Workdays/Parent Teacher Conferences See School Calendar 11 Total 180 1,524.50

5 PSYC	CHOLOGIST		07/13/22 thru 06/01/23				
	OOL COUNSELOR		Student Days	See School Calendar	154		
	OOL PSYCHOLOGIST INTERN		Paid Holidays	See School Calendar	10		
50	SOC 1 STORIO CO SOST INTERIO		Work Days Before First Day of School	07/13/22 thru 07/21/22	6		
			Work Days After Last Day of School	05/30/23 thru 06/01/23	3		
			Work Days Arter East Day of School	03/30/23 1111 00/01/23	173	8.5	1,470
			District Professional Workdays/Parent Teacher Conferences	See School Calendar	113	8	1,470
			District Professional Workdays/Parent leacher Comerences	Total	184		
				Total	184		1,558.
6 NUR	RSE	1/6/23	07/18/22 thru 5/25/23				
			Student Days	See School Calendar	154		
			Paid Holidays	See School Calendar	9		
			Work Days Before First Day of School	07/18/22 thru 07/21/22	4		
			_	Total	167	8.5	1,419
			District Professional Workdays/Parent Teacher Conferences	See School Calendar	11	8	
				Total	178		1,50
HFA	ALTH OFFICE TECH				167	8.5	1419
	TECH LIAISON (10 MONTH)		District Professional Workdays/Parent Teacher Conferences	See School Calendar	11	5	1413
SIIE			District Froiessional Workuldys/Parent leacher Conferences	Total	178	5	1,474
				Total	178		1,47
	URNING CERTIFIED TEACHER/SPECIAL STAFF	1/6/23	07/20/22 thru 05/25/23				
	RENTICE TEACHER		Student Days	See School Calendar	154		
	OCIATE TEACHER		Paid Holidays	See School Calendar	9		
	ERVENTIONIST		Work Days Before First Day of School	07/20/22 thru 07/21/22	2		
	RARY/MEDIA SPECIALIST				165	8.5	1,40
occ	CUPATIONAL THERAPIST		District Professional Workdays/Parent Teacher Conferences	See School Calendar	11	8	
COM	MMUNITY LIAISON/STUDENT SUPPORT INTERVENTIONIST						
EDU	JCATION SPECIALIST - EARLY CHILDHOOD				165	8.5	1402
EDU	JCATION SPECIALIST - KINDERPLUS		District Professional Workdays/Parent Teacher Conferences	See School Calendar	11	5	
			1	Total	176		1,45
DIGI	ITAL LITERACY ASSISTANT				165	8	1,320
EDU	ICATION SPECIALIST - ART & DESIGN		District Professional Workdays/Parent Teacher Conferences	See School Calendar	11	5	
EDU	ICATION SPECIALIST - LIBRARY MEDIA			Total	176		1,37
	É MANAGER - CENTRAL KITCHEN	1/6/23	07/20/22 thru 05/25/23				
CAFI	É SITE MANAGER		Student Days	See School Calendar	154		
CAFI	É SITE ASSISTANT MANAGER		Paid Holidays	See School Calendar	9		
			Work Days Before First Day of School	07/20/22 thru 07/21/22	2		
				Total	165		
Man	ager and Assistant Manager at Middle Schools, Central Kitchen Mana	ger					
Man	ager & Assistant Manager at McCartney Ranch				165	8.5	1,40
Man	ager at Elementary Schools; Assistant Manager at Cottonwood				165	7.5	1,23
Assis	stant Manager at PV, CHO, IWD, MES, DW				165	6.5	1,07
	TIFIED OCCUPATIONAL THERAPY ASSISTANT TODIAN 10 MONTH	1/6/23	07/21/22 thru 05/25/23 Student Days	See School Calendar	154		
	LY EDUCATION ASSISTANT		Paid Holidays	See School Calendar	9		
	ICATION SPECIALIST - INCLUSIVE EDUCATION 8.5		Work Days Before First Day of School	07/21/22	1		
			WOLK Days Before First Day of SCHOOL	0//21/22		9.5	
	EST TEACHER		District Desferoises 1974 d. de 1975 de 1975 de 1975	Con California Colonia	164	8.5	1,39
	ECH LANGUAGE PATHOLOGY ASSISTANT		District Professional Workdays/Parent Teacher Conferences	See School Calendar	11	5	
STUI	DENT ADVOCATE			Total	175		1,44
EDU	ICATION ASSISTANT - ALTERNATIVE PLACEMENT SETTING	1/6/23			164	8	1,31

	EDUCATION ASSISTANT - ELG			Total	175		1,367.00
	EDUCATION ASSISTANT - ELL						
	EDUCATION ASSISTANT - MOWR						
	EDUCATION ASSISTANT - SPECIAL EDUCATION						
	EDUCATION ASSISTANT - STUDENT SUPPORT						
	EDUCATION ASSISTANT - TITLE I						
	EDUCATION ASSISTANT ACADEMIC INTERVENTION ESSER III						
	EDUCATION SPECIALIST - INCLUSIVE EDUCATION						
	JOM FAMILY/SCHOOL LIAISON						
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
	EDUCATION ASSISTANT /E ZEUD/DAVI						
	EDUCATION ASSISTANT (5.75HR/DAY)		District Burfacia ad Walder / David Taraka Garfacia	C. C. C. L. L. C. L. L. L.	164	5.75	943.00
			District Professional Workdays/Parent Teacher Conferences	See School Calendar	11	5	55
				Total	175		998.00
10	EDUCATIONAL ASSISTANT (LESS THAN 5.0 HOURS/DAY)	1/6/23	07/21/22 thru 05/25/23				
			Student Days	See School Calendar	154		
			Work Days Before First Day of School	07/21/22	1		
					155	4	620.00
			District Professional Workdays/Parent Teacher Conferences	See School Calendar	11	5	55
			District Froiessional workudys/Patent leacher Conferences			5	
				Total	166		675.00
			Student Days	See School Calendar	154		
			Work Days Before First Day of School	07/21/22	1		
					155	3.75	581.25
			District Professional Workdays/Parent Teacher Conferences	See School Calendar	11	5	55
				Total	166		636.25
				Total	100		030.2.
11	CARÉ COOK	4/5/22	and the transition of the transition				
11	CAFÉ COOK	1/6/23	07/21/22 thru 05/25/23				
	DELIVERY DRIVER - NUTRITION		Student Days	See School Calendar	154		
			Paid Holidays	See School Calendar	9		
			Work Days Before First Day of School	07/21/22 - 3 Hours ONLY	1		
				Total	164		
	DELIVERY DRIVER - NUTRITION SERVICES					8.5	1,388.50
	COOK at CGMS					8	1,307.00
	COOK at CW, SAG					7.5	1,225.50
	COOK at CMS, MCR, VMS					7	1,144.00
	COOK at CHO, DW, MES, PV					6	
							981.00
	COOK at IW				* ONE DAY CALCULATED FO	5.5 OR 3 HOUR	899.50 ONLY
12	BUS DRIVER	1/6/23	07/25/22 thru 05/25/23				
	BUS DRIVER - SPECIAL NEEDS	1/0/23		See School Calendar	454		
			Student Days		154		
			Paid Holidays	See School Calendar	9		
	CAMPUS MONITOR		_				4204.00
	CAMPUS MONITOR RELIEF BUS DRIVER/DISPATCHER				163	8	1304.00
			District Professional Workdays/Parent Teacher Conferences	See School Calendar	163	8 5	
	RELIEF BUS DRIVER/DISPATCHER		District Professional Workdays/Parent Teacher Conferences	See School Calendar Total			50
	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT		District Professional Workdays/Parent Teacher Conferences		10		50
13	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT	1/6/23	District Professional Workdays/Parent Teacher Conferences 07/25/22 thru 05/25/23		10		50
13	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER	1/6/23			10		50
13	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER	1/6/23	07/25/22 thru 05/25/23	Total	10		50
13	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER	1/6/23	07/25/22 thru 05/25/23 Student Days	Total See School Calendar	10 173		1354.00
13	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER	1/6/23	07/25/22 thru 05/25/23 Student Days	Total See School Calendar	10 173 154 9	5	50 1354.00
13	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER	1/6/23	07/25/22 thru 05/25/23 Student Days	Total See School Calendar	10 173 154 9	5	50 1354.00
	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER DAY ASSISTANT		07/25/22 thru 05/25/23 Student Days Paid Holidays	Total See School Calendar	10 173 154 9	5	50 1354.00
	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER DAY ASSISTANT PART-TIME EMPLOYEE:		07/25/22 thru 05/25/23 Student Days Paid Holidays 07/21/22 thru 05/25/23 Student Days	See School Calendar See School Calendar See School Calendar	10 173 154 9 163	5	50 1354.00
	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER DAY ASSISTANT PART-TIME EMPLOYEE:		07/25/22 thru 05/25/23 Student Days Paid Holidays 07/21/22 thru 05/25/23	See School Calendar See School Calendar See School Calendar See School Calendar	10 173 154 9 163	6.5	1354.00 1359.50
	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER DAY ASSISTANT PART-TIME EMPLOYEE:		07/25/22 thru 05/25/23 Student Days Paid Holidays 07/21/22 thru 05/25/23 Student Days	See School Calendar See School Calendar See School Calendar	10 173 154 9 163	6.5	1059.50 542.00
	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER DAY ASSISTANT PART-TIME EMPLOYEE:		07/25/22 thru 05/25/23 Student Days Paid Holidays 07/21/22 thru 05/25/23 Student Days	See School Calendar See School Calendar See School Calendar See School Calendar	10 173 154 9 163 154 1 1	6.5	1354.00 1355.00 1059.50
14	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER DAY ASSISTANT PART-TIME EMPLOYEE:		07/25/22 thru 05/25/23 Student Days Paid Holidays 07/21/22 thru 05/25/23 Student Days	See School Calendar See School Calendar See School Calendar See School Calendar	10 173 154 9 163 154 1 1	6.5	1354.00 1355.00 1059.50
	RELIEF BUS DRIVER/DISPATCHER TRANSPORTATION ASSISTANT VAN DRIVER DAY ASSISTANT PART-TIME EMPLOYEE: CAFÉ ASSISTANT	1/6/23	07/25/22 thru 05/25/23 Student Days Paid Holidays 07/21/22 thru 05/25/23 Student Days Work Days Before First Day of School	See School Calendar See School Calendar See School Calendar See School Calendar	10 173 154 9 163 154 1 1	6.5	1304.00 50 1354.00 1059.50 542.00 50NLY

16	ST. ANTHONY'S EDUCATIONAL ASSISTANT - MUST MAINTAIN 5 DAY CALENDAR IN LINE WITH ST ANTHONY'S SCHOOL	1/6/23	07/25/22 thru 05/25/23	See St. Anthony's Calendar	199	7.5	1492.50